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SectioN A (Botany)
Question No. 1is compulsory. Attempt any four questions out of rest. The first question -
carries 25 marks and the rest of questions carry 12112 marks each.

Qn. .
a) Convert the hexadecimal number F3A7C2 (o binary and octal. (2)
“b) Convert the following numbers with.the indicated bascs to decimal:
I (121213
H (4310);

L (50% )
(3x1=3)
¢} What is the rdix af the numbers if the solution to the quadratic cquation x*-]0x 131 0 is x=5
and x 8. . (6)
d) Simplily the lbllowing expressions using Boolean algcbra. C
1L ABIACDICDY)
L BCTAD)ABLCLY)
(3x2=6)
¢) How many 28 x 8 memory chips are nceded to provide a memory capacity of 4096 bytes?
(5)

f) Perform thelogic AND, OR and XOR with the two binary strings 10011100 and 10101010,
. (3x1=3)
Q2 / ' :
a‘},fixphiin Insiruction cycle by drawiny its flow chart, (6)
¥ What is the difference between direct and indircet address instruction
/ o memory are require c
register? (3%4) . R
€) A computer uscs a meMory unit with 256K words of 32 bits cach. A binary instruction ¢ode is
stored in onc word of memory. The instruction has four parts: an indircet bit, an operation
code, a register code part o specily one of 64 registers and an address part. How many bits
are there in the operation code, the register code part and the address par? (3)

7 How many references
d for cach type of‘instruction to bring an opcrand into a processor

Turn over



Q.3)

a) Explain why cach of the followmg micro operations camiot be executed during a single clock
pulse. Specily a sequence of micro operations that will perform the operation.

. IREM|PC =
1. AC& ACHTR
Also-illustrate by drawing common bus diagram 4x2 8)

b) What do you mcan by addressing modes? Bxplain any two in detail. (4'%4)

Q.4)

a) What do you mean by associative memory/ l-prlailL {5)

b) A R()\'I chip of 1024 x 8 bits has four seleet. mpuls and operates from a 5- vo]l power
supply. How many pins are needed for the 1€ p ackage? Draw a block diagram and Jabel all
imput and output terminals in the ROM. (4'4)

-¢) Mifferentiate the following terms.
L. Strobe data trans{cr
Il. - iandshaking data transier

(3)

a) Perform the ar ithmetic operations {1 70¥H(80) and (-70) (- 80) with binary numbcers in mgned :
2’complement representation. Usc eight bits to accommadate cach number wgether jig sign. -
i . ] (6
" b} Write a short note on folowing: ‘ '
M. PROM
V. EPROM

, : _ . : (2x2 4)
¢) What do you mean by hit ratio? xplain. (244)

a} Simplify the following Boolcan function using three-variable K—Map.‘.

F(x,y,2) = 2(3,5,6,7)

' . (6%)
b} What do you mean by a binary adder? Explain: (3)

. ¢) Show the value of allbits of a 12-bit register when its content represerits the dec:mdi
equwalent of 295: {a in binary, (b) in BCD 3)



